H#RUNZ / Components

No. 2 %5 / Part name

#E / Pcs

#'E / Material

£ - REAIE / Color:Finish

1 My F 58— / Top cover

1

ASA#HE UL94HB / UV-resistant ASA UL94HB
SIRTEABSHH AR (UL94V-0 EMRS) / Flame-resistant ABS UL94V-0

RIARJL— / White gray
F+3—JL4 L— / Charcoal gray

2 "7 14— / Bottom base

ASA#E UL94HB / UV-resistant ASA UL94HB
SPATEABSHIAE (UL94V-0 TR %) / Flame-resistant ABS UL94V-0

RIARTL— / White gray
F3—)LY L— / Charcoal gray

3 | FSA2KAH/N— / Blind lids 2 ASA#tHE UL94HB / UV-resistant ASA UL94HB RTA RS L— / White gray
HPRPEABSHIEE (UL94V-0 T F%) / Flame-resistant ABS UL94V-0 | F3—JL% L — / Charcoal gray
4 H R Yk / Gasket 1 1)ara L/ Silicone 7594 / Black
5 |[EfFER(SAUK M3 x 8) 6 ATULR AT
Screw (Binding head M3 - 8) Stainless steel Unfinished

BT =h)LT—% / Technical Datall
{REEZ R / Protection class : IP67
IR E#BH / Operating temperature : ASA —=10°C ~ +60°C
ABS -10°C ~ +50°C

#H{+JLY / Recommended torque

$173— / Top—cover fastening : 0.35N*m ~ 0.45N-m
#A4R / PCB mounting : 0.2N*m ~ 0.3N-m

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
P67 KRy o R

IP67 NETWORK PLASTIC BOX

o]

B LR (WEEED) / Color Type (End of product number T) &:2/Approved | #8[B/Checked | 8E/Created | ZI%/Product number RRik/Scale
_ % (B 1:2
i85 / Code £ / Color & / Material . WP15-21-401
G RIA T L— / White gray ASAZtHE UL94HB / UV-resistant ASA UL94HB iR EH T - 1/ 4
c F¥I—ILHTL— / Charcoal gray | BE#ATEABSHAE (UL94V-0 EM5Y) / Flame-resistant ABS UL94V-0 fER.E/Date  2018/10/15




210

40

162

17

23

_

—

150
102

= A

B-B(1:2)

L] 1Y

4-R24

4-R0.5

A-A(1:2) 865
1
o™
vy \
® o o @
[
o
35 335 (] 3
@ Vo))
7
2}
ul | = @ ® | * £
5 5
@ Vo))
7
® © ol :‘y
G/ Title
TAKACHI| HREIHFERT X PETRE KA VS R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
7R/ Approved 18X/ Checked X /Created FIF /Product number RE/Scale
WP15-21-4[1 12
iR L2 S t#H 2 /4
fER{A/Date  2018/10/15




My H/8— / Top cover

o

i

150
102 4-R24
= ¢ 4-R05

|
~

210
162

17

RRil

oLy

D-D(1:25)

=

-

[y

C-C(1:25)

@5

3.5 135

182

8-2.8

45

156

118

112

135

6-M3 14— yb
6-M3 Insert nut

8-M2.6 A EARER R X
8-M2.6 Boss

125
146

HREERBIK * RELTOERA
Recommended PCB dimension * NOT SUPPLIED

2-312

104

125
146

112

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
P67 KRy o R

IP67 NETWORK PLASTIC BOX

o]

RE/Scale

2 /Approved 18X/ Checked X /Created FIF /Product number
WP15-21-40] 1:25
iR L3za) 1#H| 3/ 4
1ERLH/Date 2018/10/15




RT 14— / Bottom base

150
e
Vo & b o)
4
"I_,i,
[+
N
= o ' Py
E w7 - - T - A4
T | T
F w F
[+
Lf*f-l
& O C B
\® 57
— T
= E
2-MAR{ Y=ok (K= PWPMB-M4-28 {4 )
2-M4 Insert nut for Pole mounting bracket (WNPMB-M4-2)
F-F(1:25) ?6.5
I

|

WS

4-R24

118
4-MAFRSMERER A IR 105
E-E(1:25) M4 Mounting hole 86.5 6-M2.6 FEARER 7R X
6-M2.6 Boss
]
3 ?20
— 0
0 & SIS
5
0
HRERBIK * RELTOLERA
139 Recommended PCB dimension * NOT SUPPLIED
4-R3 355 68 355
L . 6-02.8
S \ \
N N o
r — il
\
\
\
6 |
2-¢12
o o) Lo 4 ©
L - i i
\
\
\
\
\
\
e ———— e
[To} 1 [
S S i
105
G/ Title
TAKACHI| #HXKH5hFEHIE PETRE KR w5 R @ G

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

IP67 NETWORK PLASTIC BOX

#2/Approved

R

X/ Checked

B

X /Created

1#%H

24 /Product number RE/Scale
WP15-21-4 1:25
1ERLH/Date 2018/10/15 4 / 4




